n ack We promlse you're going to have a great experience.

smllllﬂlls Baldlytreatlve Expert Customer Service Focus On Quality Ships Same Day

Rack Monitor Mount
for 20" Dell E2020H
Flat Panel Monitor

™~

Installation Instructions
Kit P/N: 163-8428

RackSolutions.com If we can’t mount it, no one can.




Kit Contents

Kit Contents: Mounting Hardware:
(1) Dell E2020H Monitor (5) 10-32 x .5 Pilot Point Pan Head Screw
(1) Mounting Bracket (5) 12-24 x Square Nut
(1) 7U Face Plate (5) 12-24 Cage Nut
(5) 12-24 x .5 Pilot Point Pan Head Screw

Assembly Hardware:
(4) M4 x .7 x 25 mm Pan Phil Screw
(4) .194 x .5 x .5 Spacer
(4) 8-32 x.312 Pan Phil Screw

Installation Instructions

Step 1 Monitor Attachment : Attach the Monitor to the Mounting Bracket using the (4) M4
screws and (4) spacers provided with the Assembly Hardware.

able Routing Slots

Page 2

RackSolutions.com If we can’t mount it, no one can.




Installation Instructions

Step 2 Face Plate Attachment: _ Attach the Monitor Bracket Assembly to the 7U Face Plate as
shown below using the supplied (4) 8-32 x .312 Pan Phil Screws.

Mounting Bracket

7U Face Plate

Page 3

RackSolutions.com If we can’t mount it, no one can.



Installation Instructions

Step 3 Rack Mounting: Attach the Monitor Mount to the Rack using (4) of the appropriate
Rack Mounting hardware (see below).

A\

/’aeaaevvaeoveaeaaevv/

\

Lg

-
-

o«

The Rack Hardware kit provides various screws and nuts for the four most common types
of racks.

Square Hole Racks __:Install Cage Nuts in appropriate positions.

Attach with the larger 12-24 Screws.

12-24 Threaded Racks __: Attach with the larger 12-24 Screws.

10-32 Threaded Racks __: Attach with the smaller 10-32 Screws.

Round Hole Racks : (non-threaded) Attach with the larger 12-24 Screws
and the square nuts.

Warranty Statement

Innovation First, Inc. warrants our products against defects in material and workmanship for a
period of one (1) year from the date of purchase. Innovation First, Inc. liability shall be limited to
repairing or replacing, at our option, any defective product.

RackSolutions.com If we can’t mount it, no one can.




